2016 FERH EBREE Al (2B 2R)

1 ¥ 2ER0dE

RO ERBEL.

a) 6x — <3x2 —(—2x2 4+ (4x% —6) — 3) — 5x>

b) (2pq —3p*)(p +29) — (4> —2pq)(2p —q) =

A=x2-3,B=1-2x2,C =x>—x + 1 DEE, RDWAEFEEL.

a) C—(B+34) =

b) A—(B—(C—4))=
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a) —a’?x (=b)® =
) (H=x*)(=y)* =
e) (—3a?b)3 x (—2ab3)* =

g) Gx-4)(Tx—1) =

i) (x?—3xy —y?)(2x —3y)
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b) a x (a?)? x (a3)? =
d) ab3(a? —5b?) =
£) Gx +4y)* =

h) (5x + y)(x + 5y) =

i) (@*+ab + b*)(a* —ab + b?)
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k) (@a+b+c)a?+b%>+c?2—bc—ca—ab) =

RDELDERICDONT, ERZEBLTERE—HIDIEERE. (BTESHBENGD]
a) (a+b)a®—ab+b? =a+5b3 b) (a —b)(a?® + ab + b?) = a® — b3
¢) (x+y)*—(x—y)?>=4xy
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a) 3ab —6ac = b) 2a%b —ab?* =

c) x2—x = d) (@a+b)x—(a+b)y=

e) x24+x—-6= f) x2—-7x+10=

g) 3x2—18x+27 = h) x2 —1lxy +24y% =

i) 25x2 —4 = i) x> +8=

k) x*+x= 1) 3x2-5x -2 =
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a) b)
x—2)x3—2x2 +4x —8 x2—3x42)x3 —9x +38
B = RO = B = RO =
c) d)
2x2  —1)x3—3x2 +4 x2 +ax —a®) x3 —ax? — 3a2x
B = R0 = B = =N =
@) =x*=3x+1&93,
a) f(x) & x — 2 CEIDICEZDRDERDSL. x—2)x3  —3x+1

b) f(2) DIEZFTEL, a) DERELBEX.
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a) BROEBEBZFALT, f(x) =x3-3x2 +4 HRDUTEIDIcEZEDRD ZRD K.
1) x-—1 2) x-2

3) x+1 4) x+2

b) x—1, x=2, x+1, x +2D25 x> -3x2 + 4 DRKTBE>TVDEDZX.

c) x3—3x? +4 EZRHOBEL.

0] BEDBEERVOBICE @EISNDH) = (EIDH) x (@) + (RD) EVSERIROIID. Thi
SHTRTE, FONEW _ o L FD o (\SEICRB. FIZE, 1757 CEBEBE2TRNI &

(B2 (8128
850T, L =2+ 2 THB. TNBHBITEART, 2% — 5 + 1 % x —2 THHEEN 2x — |
2
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REULDRHINE, BREDIHDBIDERODBNEDHNDEICRED. RDBLDDYIN7Z DX
SCBEANENIDDBRDBERDDHINEDHDEICE XK.
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